
ZADANIE 1

[bytes] plik tekstowy 100 000 znakowy BMP

stopień
kompresji

oryginalny
plik

*LZMA2 LZMA2 PPMd BZip2 oryginalny *LZMA2 LZMA2 PPMd BZip2

najmniejsz
y

plik.txt
100 000

83 792 83 776 84 926 82 886 Untitled.bmp
58

164 157 157 200

Stopień
kompresji(SK)

—----- 1,19 1,19 1,18 1,21 — 0,35 0,37 0,37 0,29

największy plik(1).txt
100 000

221 214 173 177 Untitled(1).bmp
136 858

267 260 224 233

SK —- 452,49 467,29 578,03 564,97 —------ 512,58 526,38 610,97 587,37

plik.txt

plik(1).txt



Untitled.bmp

Untitled(1).bmp

ZADANIE 2
obraz 1200 na 900 pikseli

Stopień kompresji:
JPG 136 858/22 108 = 6,19
PNG 136 858/277 =494,07
GIF 136 858/1901 =71,99



ZADANIE 3


